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x=36+2=18(cm)
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F A2 (T, AB//

AB//DC , AB =DC = 7(cm) °|2&
DABCD = HPAPHY ol
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@ /x=110° sy =50° @ £x=110° sy =60°
(@)Ax =120°, 2y = 50°

AB//CD °]|2& /ABD = /CDB, sy =50° ©]1L
Lx = Ly +70° £x = 50°+ 70° = 120° ©|t}.
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ANCD = 2 x ACQN

ANCD = AMND

AAND = 2 x AMND ©]E&2

AAND = 4 x ACQN = 16(cm?) o]t},
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DO x=4y=1 @ x=3y=1 ® x=4y=1
@x:5’y:1 @x:5’y:2
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3x-4=2x+1
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@® 60° @ 80° ® 100°

@)120° ® 140°

A}ZHE ABCD 7} AP o] B2 /BAD + /ABC = 180°
/ABC = 2/EBF ©|2& /EBF = 60° ©]t}.

A2+ BFDE = HajAtHEo|2 2 /EBF + /BFD = 180°
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